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Riva Mandackar & hours ago

Thank-yoy Sir for this Very Amazing and Tremendous Class Session of today's.. Thank you sir for the session & ans is TURVOPS
And
\—MKHH for today's Homework is- ‘/ﬂ}_lL' g[l " Reply =

T-U-R-V-Q-P-S.
L

Mohit.. 7 hours ago 1 subscribers

nika kumari & hours ago

Thank-you So Much, Sir Ji. & TURVOPS _
—— Thank you sir

B e ey @ Veryhelpfulsession A A A 4 0 E

Reply &=
Vandana Chhatri 7 hours ago uﬁ Lb_"u y PY
YOU SIR FOR THE AMAZING SESSION 4

Hw. Ans. = TURVQPS uskan Rai 7 hours ago 1 subscribers
15 GF e Reply & ANSWER = TURVQPS
THANK U SIR

akanksha £ pefir= ago
Thank 50 muchhh sr for this very amazing and wonderful session & ... I]}_ll' 4;,” v Reply B

answer for today’ homework is ...
sh sharma 7 hours ago
Thank you sir wanderful sessions

Today's homework answer is -TURVQPS

LR T D i L su & B |

A & & ¥ TQ so muchhh sr |]"'_,L| '!;u » Reply &=
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Zikra Yasmeen 2 hours ago

Answer TURVOPS




Seven persons from P to V
come 1n a meeting room. V
came just before Q. Only three
persons came between R and S.
S came 1immediately after P. No
one came between P and QQ such
that Q came before P. Only one

person came between R and T.

PV dhY
T U ATd 8
e 3T
ShaldT ]

N
d ATk Ueh d3h
V, Q & 3i

7l R 3 S & &9

I fh AW S, P oh

3

D o

q A

3

g ot P 3T

Q & = UHT T/ =T T Q,
P § g 3ATU| shael Ueh S Teh
R 3R T & s # 31|




Seven persons from P to V
come 1n a meeting room. V

came just betore Q. Only ti—lree

persons came between R and S.

~

S came immediately after P, No

—_—

one came between P and QQ such

that Q came before P. Only one

person came between R and T.

T UORVAQPS

-



6SUOILIK@JI3D#F52XNZ&PY%R48EGA©*QW

If all the symbols and the numbers in the above arrangement are dropped, which
of the following will be the tenth from the left end?

e IUh STIEUT H Tt Tl TR TEATSHT Rl g2T ToaT ATdT § at 40 W | &iF |1
T BR W FEST ERI?

1) Y
(2) N

3) P /
4 Z

(5) None of these



(6$U)09L1K@J3D#F52XNZ&PY%R48EGA©*Qw

How many such symbols are there in the above arrangement each of which is

immediately preceded by a number and immediately followed by a letter?

SUUH STTEAT H VH Fehd= Tdfteh & o0 & Tedieh o T Ugel Ueh H&AT AR 9 919

Teh 378 22

(1) None (f—?_\
@ Oney - N L
(3) Two T —

(4) Three
(5) More than three




6SUOILIK@I3D#F52XNZ&PY %R48EGAC*QW

e

How many such consonants are there in the above arrangement each of which is

immediately followed by a symbol but not immediately preceded by a number?

IUAITh SITEAT H VY Tohe sasi B 9 & Ieh o Uehad aI1g Uk Tdteh (ohed UohaH

Ug Ueh HEAT Tl 82

—
(1) None 0 N O $
(2) One L
(3) Two /
(4) Three

(5) More than three



6SUOILIK@I3D#FS2XNZ&PY%R4BEGAOC*QW

- B —

Which of the following is the sixth to the right of the seventeenth from

the right end of the above arrangement?

U SATEYT H 9 | | ShiH-67 ST SR ¥ §9Ed o S BT 87
1) % /

Q)Y o R~ R

3) D 7 _ 4 _—,@
4) 3

(5) None of these



6$UO9L1@@J3D#FSZXNZ&PY%R48EGA©*QW

/r, -0
Which of the following is the fifth to the left of the sixth to the left of Z in

the above arrangement?

ST STATEAT H AT § T R Z F 91 TS oF 9= Uigal 22

o IRV
2) 1 5

3) O 3 ¢ =z
4) K /

(5) None of these



How many pairs of letters are there in the word “JOKER”,

each of which has as many letters between them in the word (in
both forward and backward direction) as they have between

them in the English alphabet? T OKER
s 1S 1 S (3

veg “JOKER" ﬁ%ﬁsﬁﬁ,ﬁqﬁﬁﬁﬁﬁm (3TRT 3R
e ST feeTratt /) o sfier o ™A e1er 2, 39k st it
FUTHTAT H 32

(1) None (2) Two (4) Four (5) Three



|
Conclusions (I) 22 z 19 (II) 22 <11
_ —J B
Statements —

2 ,,
(1)20>11>6>4<22<197* =

%0>11>6 22>2=19

(3)20>11>6>22<19>2>&
20<11>6>22>19>2

-, -

(5)20311<6>22§1932>Q




conclusions-(1) 5 >4 (1) 3>4

Statements -

\
(1)11<335<253\4>§/
(2)11<3>5>25>4

(3)11<3>5>25<4 X

(4)11<3<5>25>4X

_

(5)11<33552534/<



Conclusions - (I) 23> 12 I 21 <15

Statements —

(— ) [
1)23>22>12<15>3=21 /

(2)23<22>12>15>3>21)

(3)23<22>12>15>3>21M
s22z1221523>2

(4)23>22>12>15>3>21

(5)2332251251553>21/<




|
Conclusions - (|) 10> 4 (”) 20 =19

Statements -

[ |
(1)4<9<10>20=7=19 _—

— \
(2)459<10320:7@19)<
— \

(3)459<10320:7@19)<

(4)4>9<10>20=7=19 X

(5)459>10520:7:19)<



Conclusions-(1) 13 > 9 (1I) 26 > 13

Statements -

( )
(1)26>1>13>14>18>9
[ -

o h
(2)26>1<13>14>18=9
)"

(3)262131331421839)§

(4)26>1>13>14<18>9 >(

(5)26>1>13>14<18>9 >(



\
In a certain code VINIT is coded as %52 , How is SOYA coded

in that code ?

ue FIfa g ¥ VINIT &1 $52 3 &9 8 Sitea 3 ST 21 39

IS 7 SOYA hi ¥l hifSd ThdT SITAT 82

(A) 70 vV TNIT w0 A

(B) 64 92 91T o (S @5 |

(C) 78 o \ _/ N
0 3 R3 R 34 Yy

s Ly

(E) None of these j S 2\




\
In a certain code a number BRAVE is written as 36 . How is

COMMAN written in that code ?
U fAf3a e # U 9T BRAVE &t 36 % ®U § forat Srar 2l

39 HIE T COMMAN I F& for@t SraT 22
() 223 BRAVE C&Hria N
(B) 256 / ’ < s |

(C) 196 "
(D) 144 (© = @

(E) 289 & 1




In a certain code a number AMAN is written as 1415 . How is

KAMAL written in that code ?
U A3 i § teh §=aT AMAN Wl 1415 % €9 | for@r Sar 2 139
&HIE T KAMAL &t &8 ferar Smar 22

N 21312/ AMA [V | 1< /lr@ A L
| 3 ™

(B) 2141 ‘ 2]
(C) 12132
o \ \ | \
(D) 21314
Y3

(E) None of these ' \[ S




n economic development™ 1s written as “vl no py su”
-_—

“oreater growth more development” 1s written as “wr ea vl om”

“more(focus)is important™ 1s written as “su ta nx ea”

“economic growth 1s important” 1s written as “ta py om nx”’

'su’ 1s the code for which of the following? / feffaa w9 W%ﬁa@%?

1.Development

2.focui/

3.0n

4 1mportant
5.More



Statements:

All watch are hand.
All hand are finger.
Some finger are mind.
All mind are wall.

Conclusions:

I. Some finger are watch.

I1. No finger is watch.

<h .

Tt ut, grer §) 0
|t BT, AT B

F AT, fawm 2

gt feum, e e

freen:

L. T 3iTe, wEt B

I1. T3 ST, Tt T8



Statements:

All watch are hand.
All hand are finger.
Some finger are mind.

All mind are wall. Y

Conclusions: 5

I. Some finger are watch. / (W
I1. No finger is watch. X



Statements:

All watch are hand.

All hand are finger.
Some finger are mind.
All mind are wall.
Conclusions:

I. Some wall are finger.

I1. Some wall being finger is a
possibility.

I, wzﬁawﬁaamﬁ%gﬁeﬁqss



Statements:

All watch are hand.

All hand are finger. N | =
Some finger are mind.
All mind are wall. ’ \”/"QV

Conclusions:
I. Some wall are finger.

II. Some wall being finger is a)(
possibility.



Statements: FHUT:
No tree is root. aﬁéﬁ-s' Trl?:‘ﬂ%ﬁ'%l oL
rg) re
No first is root. aﬁé_m \_rlg':l'&ﬁ'%l
9 re

Some winner are root.

%o foerr, Jig R
All first are last.

ot UgeT, TR 2
Conclusions: ’

e
I. HT ATRE, UgAT B
I1. D U, T R forsrar i 71

I. Some last are first.

I1. Some tree are not root and
winner.



Statements:

No tree is root.
No first is root.
T X
Some winner are root.
All first are last.
Conclusions: /
I. Some last are first.

I1. Some tree are not root and /
winner.




Statements: HAT: |

No tree is root. i U, IS 81 2| ut

No first is root. aﬁ'sg PR IR CE | 2l

Some winner are root. Wﬁﬁ?ﬂ, SER]

All first are last. T+t U, SATRaR 2

Conclusions: B E

I. Some last being winner and L. %% ATt o fortar aﬁ-{agw
root together is a possibility. & T Toh HHTIAT 21

I1. Some first are not tree. 11. %% Ugel, ﬁ'gT{g"r%|



Statements:

No tree is root.

No first is root.

Some winner are root.
All first are last.

Conclusions:

I. Some last being winner and /

root together is a possibility.

I1. Some first are not tree. ><




Statements:
Some mango are guava.
All guava are papaya.

Some banana are mango, guava
and papaya.

Some lemon are banana.
Conclusions:
I. Some papaya are not lemon.

I1. Some lemon being mango,
papaya, guava and banana
together is a possibility.

hdA:

FS AW, HES
At THES, qutar g
ShHS hell, 3TTH, AES 3R TUiar 2|
& g, HAT 2l

freeRy:

L. %S qutar, g T8 3

I1. TS e o ATH, TUTT, THES AR
el Ueh TTY B <hT Ueh HHTAAT B




Statements:
Some mango are guava.
All guava are papaya.

Some banana are mango, guava
and papaya.

Some lemon are banana.

Conclusions:

I. Some papaya are not lemon. )(

I1. Some lemon being mango, /
papaya, guava and banana

together is a possibility.

—



Anandi walks 24 m east from point A and reaches point B. From point B she takes left turn
and walks 8 m and then she takes right turn and walked 12 m and again she takes right turn

and walks 14 m and again takes right turn and reaches point M. Then in which direction he is

—

facing now ?

ATET foig A & 24 Wiex ud et & iR g B @k ugerd ) foig B @ o2 od Hig ol & 3 8
Hiex TetaT § 2R T 8 o/ /g &dT © 3R 12 HieX Tretd! 2 3R i o ey /g ot © 31 14
Hiet wretdt 8 3 TR 219 /IS oIl € 3R feig M ek ugerdt 21

(1) North

(M R

(3ﬁ 3 1

(5) None of these 3




Sunil is son of Keshav, Keshav’s only sister Simran has a son Maruti
and a daughter Sita. Prem is maternal uncle of maruti. How is Sunil

related to Prem?

THIST TS T T ¥, YT hi TRATST SE TR w1 SeT Aol ok e
HAT 31 IH AT T /AT g1 il IH | hH daferd g2

(A) Niece / STift/sTestt Mephew |/ SrAT/STe T
(C) Uncle / 3ichet (D) Aunt / 3TTeT

JQFW*&_}_/ \<c~5]—\o\/ i SV ko
| G
\ . />3'-{

Suml MY




Eight people A, B, C, D, E, F, G and H 3118 &7 A,B,C,D,E,F,G M H Th
are sitting around a square table. Four TR I F IRE ﬁ?ﬁ%%l T
of them are sitting at the corners Wwaﬁ' @Tﬁ%gq TS %
facing outside and the remaining four R = '

AR A oh Th Rl WS
are sitting at the sides of the table TS % NN gq%
facing inside sitting in the. H sits i | H’ Ce et c.\{ T ssdT el
second to the left of C. G sits third to  ©> H %Eﬁﬁmm%l E, G h
the right of H. E sits second to the left TS AN ESA ST gl E, B 918 3R A
of G. A sits second from the left of E. g\ﬂﬂaw%, ﬁﬁ‘m%q&u‘ T ‘ﬁ‘
B sits at one of the middle sides of the ¥ UeR YT I34T | B, E T dcchlet USTHT

table. B is not an immediate neighbour Z=f3 p E eh T8 3T SO 2
9
of E. D sits second to the left of F. o




Eight people A, B, C, D, E, F, G and
H are sitting around a square table.

Four of them are sitting at the corners [—)

facing outside and the remaining four
are sitting at the sides of the table H —

facing inside sitting in the@ sits

second to the left of C. G sits third to

the right of H. E sits second to the left ><
of G. A sits second from the left of E.
B sits at one of the middle sides of the
table. B is not an immediate
neighbour of E. D sits second to the
left of F.




Nine personsi.e. P, Q, R, S, T, U, V, W,

X were born on different months i.e.
January, March, April, May, July,
August, September, October, November
but not necessarily in same order.

Four persons were born between P and
T. P was born before T. Q was born in
the month of 30 days after July. T was
born after Q and before R. There were
as many persons born before X as after
R. one person was born between U and
V. S was born before U and after W.

=t sat U : P, Q,R, S, T, U, V, W, X
W—Wqﬁm:ﬁ?ﬁ,mﬁ,
A, W3, TATs, T, foedar, T,
T | TH o 3| ATRT T A THTH ShH
o

PART I T IR AR T Ad 8l P, T
" Ug ST9 AT 8l Q, T8 o a1g 30 fa=
qTel HEH W S+0 &iar gl T, Q o a1 3T R
U Ugcd TT7H oIdT 2l X ok Ugel fora sat<h
I Ad & R & 912 3a+ &1 Ik 9+ oI 2
U 3RV & Sr H Ueh Ak AT eidr 8l S, U
o UEA 3 W o TS W=/ oidT 2




Nine personsi.e. P, Q. R, S, T, U, V, W, X

were born on different months i.e. January,
March, April, May, July, August,
September, October, November but not
necessarily in same order.

Four persons were born between P and T.
P-wasbornbetore . Q was born in the
month of 30 days after July. T was born

after Q and before R. There were as many
persons born before X as after R. one

person was born between U and V. S was J

born before U and after W. (
\V,

30




There are eleven boxes placed one above

the other. Five boxes are placed between
F and T. Not more than five boxes are
kept above T. Two boxes are kept
between T and M. Three boxes are kept
between M and S and M is kept at one of
the positions above S. There are only
three boxes kept above the box J. One
box is kept between R and S. Two boxes
are kept between R and H. Box D is kept
at below box K and above box C which is

not above R. Box E is kept immediately

above K. Box H is above R but not on top

. Mboxnois 6.H lives above M.

e fEes Uh 3 HUX o1 T@T B3 71 F iR
THAA AT R W@ E THFIFWAT A
Afereh e T W@ E TR M B =W A
fesar T 31 M 3R S % S § i ey W@ 3
3R M, S & FUX fRe Teh €A WX @1 2
fesat J & FuR e i fesa T ) R 3R
S &fter W Ueh TSeaT WaT 8l R AR H Sk s |
3t fesar war 81 fesar D, s K F iR w@at e
3R f&aT C & FUX [T & A R o6 HU T8
2l fesan E, K o dieh S7uX W@ 81 919 H, R
U FU g ik IS U 81 g1 M S196 &7 6
2 H, M % S T&dT 2




There are eleven boxes placed one above

the other. Five boxes are placed between

F and T. Not more than five boxes are

kept above T. Two boxes are kept

between T and M. Three boxes are kept

between M and S and M is kept at one of

tlEposmons above S. There are only

three boxes kept above the box J. One

box is kept between R and S. Two boxes

— —

are kept between R and H. Box D is kept

at below box K and above box C which is

not above R. Box E is kept immediately

above K. Box H is above R but not onTe_L

—

. Mboxnois 6. H lives ;bove \% B
—_— 44\_/’

\ 7
72 | [£
—5T=
i B
S| ¥ i
6
7 (\r;l B
3| R D
ilF
| ST

—
—

“/




|
10 people A, B,C, D, E,P,Q, R, S, and T sit 10aF A, B,C,D,E, P,Q,R, S, 3R Tal

on two linear benches such that five people YRGS s I 39 JehR 934 & 1o i i<h
face south and other five face north and they SIeT0T T AR BTEI;@% I 3T Ui I
face each other too but not necessarily in same 3R 3753'@% IR o Qoh—c;c\H\{ I AR ?FEID'@T%
order given above. Ao ST -Te foh 3T 361 1 &1 SR o= T

@ 21 D fordft ts ufthr s g H 9aT 21 B, A 31T
D sits in the middle of one of the row. B sits C o T | oS Hth ob [OUd I3l gl A 3T
opposite to the one who sits in the middle of A P o S &1 i<k oIS &l B, D o 3ieh aRfT 3R
and C. Two people sit between A and P. B is 2l E, ST S &l @TB?EID'@[%, R T W

to the immediate left of D. E, who faces S, sits JYTHYS I S3dT Bl A Wﬂ'@‘q"f\&TUT EARE IR
at farthest possible distance on the bench from AR URF F AT HASATR| P 3R T Q_m"ac'\{:l:(%
R. A faces south and sits end of the row . P e 2l

and T face each other.




|
10 people A,B,C,D,E, P, Q,R, S, and T sit

on two linear benches such that five people

face south and other five face north and they

order given above.

face each other too but not necessarily in same (@ﬁ cr 0D ﬁ ™M

D sits in the middle of one of the row. B sits
opposite to the one who sits in the middle of A 7 ( [0(9 )
and C. Two people sit between A and P. B 1s -

to the immediate left of D. E, who faces S, sits

at farthest possible distance on the bench from
R. A faces south and sits end of the row . P

and T face each other.



Seven persons A, B, C, D, E, F and G are sitting in row and all are facing

towards north but not necessarily in the same order. B sits second from one of
the extreme ends. Three persons sit between D and B. Two persons sit between
D and A. C sits to the immediate left of A. F sits to left of C but 1s not an

immediate neighbour of C. More than two persons sit between F and E.

a1 SAfh A, B, C, D, E, F 3R G Ufth § o & AT @+l o1 9@ I ! TR & AAleh
SR T g1 o6 H 1l B fohelt Th 3 R 8 g0 T s3] D 3B
S i st 93 8l D 3T A o s 31 Ak oS Bl C, A o 3ieh oI5 3T 93T 2l F,
C o 913 3T 93T ©, Al C kT fHehead el 721 21 F 3T E o o= a1 ¥ 3Afres

=P S3d 2




Seven persons A, B, C, D, E, F and G are sitting in row and all are facing

towards north but not necessarily in the same order. B sits second from one of
the extreme ends. Three persons sit between D and B. Two persons sit between
D and A. C sits to the immediate left of A. F sits to left of C but 1s not an

immediate neighbour of C. More than two persons sit between F and E.



